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Question Number : 1 Question Id : 3210111251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The meaning of remission is:

Options:
, « The disease is present. but the person does not experience symptoms

> w The symptoms re-appear

- » [Iheperson is clinically cured

4 % The severity of disease increases
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Which of the below is NOT a role played by a nurse?
Options:

, = Caregiver



> % Counselor
z % Communicator

4 Physician
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A group of related ideas or statements is called:

Options:
, % Philosophy

- u Paradigm

5 ® Iheory

4 + Conceptual framework
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Which of the below is an example of unintentional tort?

Options:

, « Negligence

- % Defamation
= % Assault

Invasion of privacy
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The professional value of nursing that describes the right to self-determination is called:
Options:

1 % Altruism



5 o Altonomy

5 # Dignity

4 = Integrity
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The term *veracity’ in the context of nursing values refers to:
Options:

, w DBeing answerable for one’s actions

> w Being faithful to agreements

o o lelling the truth

, » DBeing fair and just
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Correct Marks: 1 Wrong Marks: 0.25
Which of the below is NOT a part of the nursing process of ‘planning’?

Options:
, w Prioritising problems/diagnoses

> % Formulating goals/desired outcome

- o Supervising delegated care

4 % Writing nursing interventions
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The type of assessment done to compare the client’s current status to previously obtained baseline data is called:
Options:

1 % Initial assessment



> % Problem-focused assessment

5 % Emergency assessment

4 « Time-lapsed reassessment
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Among the following, the task that does NOT require a registered nurse but can be delegated to the home health aide is:

Options:

, « Feeding and bathing the client

- » Teaching the client about medications

5 w Assessing wound healing progress

4 = Adjusting oxygen flow
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In the diagnostic statement "Excess fluid volume related to decreased venous return as manifested by lower extremity

edema (swelling)." the etiology of the problem is:
Options:
1 % Excess fluid volume

> « Decreased venous return

- u ldiopathic

4 % Edema
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The advantage of using a three-part diagnostic statement such as the problem-etiology-signs/symptoms (PES) format is:
Options:

, % Itimproves communication between physician and nurse



> w Ithelps the nurse in delegating

- » It standardises organisation of client data

4 « It decreases the cost of healthcare
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The document that gives nurses the authority to carry out specific actions under certain circumstances. often when a
physician is not immediately available. is called:

Options:

, w Prescription

- % Discharge summary

5 « Standing order

4 % Concept map
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An example of positive feedback mechanism in our body is:

Options:
, w Baroreceptor mechanism

o « Oxytocin in childbirth

- w lemperature regulation

, = Regulation of thyroid hormone
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A plane that passes through the midline of the body and divides it into equal right and left sides is called:

Options:
, w Coronal plane

- » Oblique plane

-  Mid-sagittal plane

, = Para-sagittal plane
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The organ that does not lie in the pelvic cavity is:

Options:
, % Urinary bladder

- u Fallopian tube

5 « Transverse colon

4 % Rectum
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Proton pump in stomach is an example for:
Options:

L Primary active transport

- u Secondary active transport

- » Simple diffusion

4 % Facilitated diffusion
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Among the following, the bone that belongs to the axial skeleton is:

Options:



1 % Patella
- % Humerus

o o Hyoid

4 % Tarsals
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An immovable joint is called:
Options:

.+ Synarthrosis

> % Amphiarthrosis

- u Polyarthritis

4 % Diarthrosis
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Which of the below is the true statement about the H zone of the sarcomere?
Options:

, % Itcontains thin filaments only

- It contains thick filaments only
- % It contains thick and thin filaments lying side by side

4 % Itis devoid of thick or thin filaments
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Tropomyosin in the muscle fiber is a protein.



Options:
1 % contractile

> % structural

- u anchoring

4 « Tegulatory
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Depolarisation in a nerve action potential is due to:
Options:

1 Opening of sodium channels

- » Opening of potassium channels

- u Closing of sodium channels

, % Opening of calcium channels
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The action of the sympathetic system in the walls of airways is called as:

Options:
1 % Bronchoconstriction

> + Bronchodilation
= % Increased secretion

4 % Increased gas exchange
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Which of the below is NOT a function of the fibrous skeleton of the heart?
Options:



, w Prevents overstretching of the valves

> % Acts as a point of insertion for cardiac muscle fibers

-  Conducts the impulses from atria to ventricles

4 % Forms a structural foundation for the heart valves
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The *‘Adam’s Apple” is formed by:
Options:

, « Thyroid cartilage

» u Cricoid cartilage

- % Hyoid bone

4 = Epiglottis
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Pepsinogen in the stomach is secreted by:

Options:
1 % Parietal cells

> « Chief cells
%z % Goblet cells

4 % Geells
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The hormone that increases water reabsorption by inserting water channel or aquaporins is:

Options:



. w Angiotensin

- % Aldosterone

Atrial natriuretic peptide

4 « Anti-diuretic hormone
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Respiratory rate multiplied by tidal volume gives:
Options:

, » Maximum voluntary ventilation

> « Minute volume

- u Jlotal lung capacity

4 % Expiratory reserve volume
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The causative agent for the disease scrapie belongs to the category of:

Options:
1 % Bacteria

> % Viruses
= % Protozoans

4 « Prions

Question Number : 28 Question Id : 3210111278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T BN F BT R F7 g9y s34 ¥ s o @ 32
Options:

Sharoy (FF8RE)

1. = D

il famor (aTE)

5 % ISISATAT

Question Number : 29 Question Id : 3210111279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The correct order of the phases in the bacterial growth curve is:

Options:



, ® Lag —> stationary = exponential = decline

, » Lag = decline - exponential = stationary

-  Lag —exponential > stationary - decline

4 » Lag —exponential > decline > stationary
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Which of the following is NOT assimilated by eukaryotic cells?

Options:
1 % Glucose

> % Lactate
= % Sulfate

o, Nitrogen
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The genetic exchange process in which donor DNA is introduced to the recipient by a virus is:
Options:

1+ Transduction

- % Transfection

5 » Conjugation

4 % Transformation
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A cell that takes part in innate immunity by killing virus-infected cells is:

Options:



1 « NK cell
w Macrophage
% Neutrophil

4 % Tcell
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The type of hypersensitivity reaction due to IgE-mediated histamine release is called:

Options:
1 Type 1
> % lypel

5 % Type 3

4 % Type 4
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The microorganism that is usually a part of the normal vaginal flora but can cause meningitis in newborns is:

Options:
, % Staphylococcus epidermidis

-  Group B streptococei

— Corynebacterium species

4 % Candida albicans

Question Number : 34 Question Id : 3210111284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Bacillus cereus food poisoning is commonly associated with the consumption of:

Options:



1 % Green beans
> « Fried rice

» DBaked potato

» DBottled honey
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The term MRSA in bacteriology stands for:

Options:
, » Multidrug Resistant Staphylococcus aureus

Methicillin Resistant Streptococcus anginosus
Methicillin Resistant Staphylococcus aureus

Methicillin Reactive Staphylococcus aursus
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Single Line Question Option : No Option Orientation : Vertical
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StaTo] forse F ereg MRSA T 90T & 47 27

Options:



1. ®

Foarge fawde eefreieey 3@ (Multidrug Resistant Staphylococcus aureus)

o #

rafafes e sy JAFsaT (Methicillin Resistant Streptococcus anginosus)

3%
fafafts A Efrasea 3TT (Methicillin Resistant Staphylococcus aureus)
g4 ®

rfafafts e 2fvaea 3TE (Methicillin Reactive Staphylococcus aureus)
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The genera that needs pyridoxal for growth is:

Options:
1 % Pedicoccus

> « Granulicatella
= % Aero coccus

4 % Enterococcus
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A rapid grower among the following is:
Options:
, % Mycobacterium avium

- % Mycobacterium gordonae

=  Mycobacterium abscessus

4 ® Mycobacterium bovis
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Correct Marks: 1 Wrong Marks: 0.25
Scrub typhus is caused by:
Options:

, w Rickettsia typhi

- » Rickettsia prowazekii

= % Rickettsia akari

4  Orientia tsutsugamushi

Question Number : 39 Question Id : 3210111289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The group at the increased risk for herpes zoster is:
Options:

, « Persons at advanced age

> w Patients with atopic dermatitis

o % Pregnant women

, = Infants with congenital infections

Question Number : 40 Question Id : 3210111290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pseudo hyphae are seen in:
Options:

1 % Penicillinm

- « Candida

5 u Aspergillus

4 ® Mucor
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Correct Marks: 1 Wrong Marks: 0.25

The test used for the diagnosis of trichomoniasis is:
Options:

, w» Ova and parasite fecal smear

- u Specific serologic test

o o Wwet mount of vaginal fluid

, = Enzyme-linked immunoassay (ELISA) test of serum

Question Number : 42 Question Id : 3210111292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25



grERAfATRE & Few F Bv s9aer G s I 2 == 9§ ST 272
Options:

| 3T AT WS FFed THRT

. w (399 WIS S

S_Jmﬁaa{éﬁaﬂwpﬁﬂﬁw

, w T H TSEH ¥ JEr Sfawel (S.uaams.ea.e. (ELISA)) eFe

Question Number : 43 Question Id : 3210111293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
When a person’s blood pressure drops. the kidneys respond by:
Options:

|« Secreting renin

- » Producing aldosterone

- w Slowing the release of ADH

, % Increasing urine output

Question Number : 43 Question Id : 3210111293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
Which of the below is NOT a sign of respiratory distress?

Options:
L% Cyanosis

> u Nasal flaring

- » Changing of posture to ease breathing

4 + Speaking complete sentences
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Correct Marks: 1 Wrong Marks: 0.25
A non-opioid analgesic of the below is:

Options:
, w Buprenorphine

5 Naproxen

- % Butorphanol

4 % Pentazocine
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Single Line Question Option : No Option Orientation : Vertical
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The surgical intervention for pain management, which involves cutting a nerve root to relieve pain, is called:
Options:

, » Cordotomy

- % Radio frequency ablation

- u Cry analgesia

4 Rhizotomy
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Correct Marks: 1 Wrong Marks: 0.25
In a patient taking high doses of acetaminophen over a prolonged period. the parameter to be monitored regularly is:

Options:
1 % Prothrombin time

> % GI irritation
3 « Liver function

, = Kidney function

Question Number : 47 Question Id : 3210111297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The cranial nerve affected in Bell’s Palsy is:

Options:
1 % Cranial nerve ITI
> % Cranial nerve V

3 « Cranial nerve VII

4 % Cranial nerve IX
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Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25

Positive Brudzinski’s and Kernig’s signs are indicative of:
Options:

1 % Alcohol intoxication

> w Hemiplegia

- » Peripheral neuropathy

4w Meningitis
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Multiple sclerosis is characterised by:
Options:
| Progressive demyelination in the CNS

- » Deficiency of the neurotransmitter dopamine

- u Deterioration of the spinal column

, % Impaired cerebral circulation
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The most common cause of retinal detachment is:
Options:

1 % Diabetes mellitus

- % DBrain tumors

- « Degenerative changes in the retina or vitreous

4 % Trauma
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Correct Marks: 1 Wrong Marks: 0.25
If palpating the tragus or auricle causes pain, the problem is:

Options:
1 « Ofitis externa

- % Otitis media

- » Pharyngitis

4 % Sinusitis
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Correct Marks: 1 Wrong Marks: 0.25
The test that’s most specific for myocardial damage is:



Options:
1 % Ck-mb

o o lroponinI

- # Myoglobin

4 % Creatinine kinase
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Intermittent claudication is a sign of:
Options:

1 « Arterial occlusive disease

- w Myocardial infarction

- » Peripheral neuropathy

4 = Nerve injury
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When performing suctioning on a patient. you should:

Options:

, = Aapply suction intermittently as the catheter is inserted

> % perform suction on the patient for longer than 10 seconds each time
- o OXygenate the patient’s lungs before and after suctioning procedure

4 % apply suction continuously while inserting the catheter
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According to Maslow’s hierarchy, need to be well thought of by oneself as well as by others comes under:
Options:

, w Physiological needs

- w Security and safety needs

3 o Self-esteem needs

4 % Self-awareness needs
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Correct Marks: 1 Wrong Marks: 0.25
Unattractive man selects expensive. stylish clothes to draw attention to himself. The defense mechanism exemplified

here is:
Options:
|« Compensation

- % Conversion
=z % Denial

4 % Dissociation
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Voluntary rejection of unacceptable thoughts or feelings from conscious awareness is called:

Options:
1 % Sublimation

- % Substitution

5 o Suppression

, = Symbolisation
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A mental illness specific to certain Indian populations where there is severe anxiety and hypochondriacally concerns is
called:
Options:

1 % Amok

z % Nervios

4 % Rootwork
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The condition in which false beliefs are firmly maintained even though they are not shared by others is called:

Options:
1 % Illusion

> « Delusion
z % Delirium

4 % Hallucination
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An affective disorder among the following is:

Options:
L Bipolar disorder

5 u Phobic anxiety disorder

=z % Somatoform disorder

4 % Schizophrenia
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Correct Marks: 1 Wrong Marks: 0.25
The term resourcefulness implies:



Options:
, = Ability to handle stressful situations

-  Problem solving ability

5 w Involvement in spiritual activities

4 = Sense of belonging
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Correct Marks: 1 Wrong Marks: 0.25
Which of the below is NOT a part of the secondary prevention of mental illness?

Options:
| ® Screening

- u Early detection

- % Crisis stabilisation

4 + Rehabilitation
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The population targeted by ‘indicated preventive interventions’ is:
Options:

, + Highrisk individuals

o u Grieving families

- u General population

4 w Age-specific populations
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The full form of GAS in the context of response to stress is:



Options:
, w General alarm syndrome

- » General adaptation system

- + General adaptation syndrome

4 » General alarm signals
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The third phase of body’s adaptation to stress is:



Options:
1 % Reaction

- % Resistance
z « Exhaustion

4 % Rebound
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Neuroleptic drugs are also known as:

Options:
, % Antidepressants

-  Antipsychotics

- » Hypnotics

4, = Antiepileptics
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The minimally invasive technique by which thin. insulated lead wire with electrodes (neurostimulator) is surgically

implanted in the brain is called:

Options:



, w Electroconvulsive therapy

- % [Iranscranial magnetic stimulation

% % Functional MRI

4 + Deep brain stimulation

Question Number : 68 Question Id : 3210111318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FH AT H 3 B o el 37 e # F4T FEg 2, Sas SeFgls (FAITeeFgpex) & Ay
geelr, Wl FET 9 FF ATSH # Foill g@ Fedarima f&har Em%?

Options:

Solgelhed lold 44T

TEHATT HIsdTesh (EeFgorere
. & PEIAA THIRIE. (MRI)

, o9 34 rergee=

Question Number : 69 Question Id : 3210111319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A scale that cannot be used to assess a subject for a mood disorder is:
Options:

, w» Hamilton rating scale

- « Edinburgh inventory

- » Wakefield questionnaire

4 w Beck inventory
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Naegele's rule is used to calculate:

Options:
| ® Gestational age

- % Amniotic fluid
=z % Cervical dilation

4 + Expected date of delivery
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The causative agent for bacterial vaginosis is:



Options:
, w Chlamydia trachomatis

- o Gardnerella vaginalis

% % Candida albicans

, w Herpes simplex
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Which of the below is a confirmed indication of pregnancy?

Options:
1 % Amenorrhea

-  Fetal heart in ultra-sonogram

= % Beta HCG in urine

4 % Nauseaand vomiting
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Folic acid supplements in pregnancy are mainly used for the prevention of:

Options:
1 % Gestational diabetes

> % Anemia in mother
% % Anemia in fetus

4 « Neural tube defects
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Bleeding in the first trimester with no uterine contraction or pain and no dilation of cervix indicates:

Options:
1 « Threatened abortion

- % Inevitable abortion

- » Complete abortion

4 % Missed abortion
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Which of the below is true with regard to pregnancy-induced hyvpertension?

Options:
, w Thereis raised BP before 20 weeks” gestation

o o It isalso called as gestational hypertension

- » Proteinuria is usually present

4 % Visual disturbances are always present
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Which of the below is NOT a component of HELLP syndrome?

Options:
, w Hemolysis

> w Elevated liver enzymes

-  Bleeding per vaginum

4 w Low platelet count

Question Number : 76 Question Id : 3210111326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SAH U FiF TS TATA . (HELLP) RSH &1 T ues 7@m 87

Options:
| » TFd-HIEEA (FATCTSEH)

, » 39 TFd ToEH

2 » Fd TSTEAH T

4 % TOICOIE I i [eiadr

Question Number : 77 Question Id : 3210111327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The normal order of events taking place during the second stage of labour is:

Options:



, % Descent =internal rotation > crowning —>extension—> flexion

. » Descent = flexion 2 crowning —>extension =internal rotation

- x Descent > flexion—>internal rotation >extension = crowning

4  Descent = flexion—>internal rotation = crowning —>extension
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Schultze method and Matthew Duncan method describe:
Options:

, w Delivery of the presenting part

o o Methods of detachment of placenta

- u Wways of presentation of the foetus

4 R Ways to monitor fetal heart rate
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Fine downy hair, normally found abundantly in premature babies, is called:

Options:
1 % Vernix

5 o Lanugo

=z % Naevi

4 % Caput
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When there is a possibility of locked twins being born?

Options:



, + Firsttwin has breech and the second twin has cephalic presentation

- % Firsttwin has cephalic and the second twin has breech presentation

% % Dichorionic diamniotic twins

4 % Fraternal twins
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Locational amenorrhea acts as a contraceptive method by:
Options:

1% Preventing sperm entry

> w Spermicidal action

5  Preventing ovulation

, w Preventing implantation
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Repeated involuntary or intentional passage of feces by a child in inappropriate places. after the age when bowel control

is normally expected. is called:
Options:
1 % Enuresis

5 of Encopresis

- u Night sweats

, # Nightmares
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The mode of inheritance of cystic fibrosis is:
Options:
1 % Autosomal dominant

> « Autosomal recessive
%z % X linked disease

4 % Non-Mendelian
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In a normal average infant, the percentage increase in body length, than that at birth, at the age of 1 year is:

Options:
i ® 10%%

oW 209%p
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, % 10%
o % 20%
=W 50‘%

4 % 75%
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Microcephaly is diagnosed when head circumference is less than:

Options:
1 % 1 standard deviation

- % 2 standard deviations
= « 3 standard deviations

4 % 4 standard deviations
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The anterior fontanelle closes by:

Options:
1 % birth



> w 2 months of age

o o 9 1o 18 months of age

4 ® 2-3yearsofage
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Newborn maturity rating is done using:

Options:
| % Apgar score

> « Ballard score
= % Olliander score

4 % Chandler score
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The total number of foetal and early neonatal deaths per 1000 live births is called:

Options:
| « Perinatal mortality

> % Neonatal death
% % Intrauterine death

4 % Foetal death
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Poor skin turgor in neonates and infants indicates:
Options:

, w» Hypoglycemia



> w Hypocalcemia

i Dehydration

, = Hypertonia
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Correct Marks: 1 Wrong Marks: 0.25
Air bronchogram in X-ray is seen in the case of:

Options:
, % Sepsis

- % Tuberculosis

= % DBronchial asthma

4 « Respiratory distress syndrome
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Introduction of solid foods along with breast feeding is called:

Options:
, w» Demand feeding

o o Complementary feeding

5 % Scheduled feeding

, w Conditional feeding
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During the age of 1 - 3 years, the developmental stage according to the Freud’s theory is:
Options:

1 % Oral



o o Anal
% % Phallic

4 % Genital
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The dimension of health concerned with proper biological functioning is called:

Options:

. « FPhysical dimension

- % Mental dimension

- % Spiritual dimension

4 % Social dimension
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Correct Marks: 1 Wrong Marks: 0.25
Which of the below is a mortality indicator?

Options:
1 « Crude death rate

- % Incidence rate
z % Prevalence rate

, w Disability rate
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The full form of DALY in the context of community health is:
Options:

, w Disability adapted life years



-  Disability adjusted life years

- u Disease adjusted life years

4, = Disease adapted life years
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The first referral level in the healthcare system is:
Options:

1 % Primordial health care

> % Primary health care

= o Secondary health care

4 % Tlertiary health care
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Single Line Question Option : No Option Orientation : Vertical
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Which is NOT a high risk factor that might affect workers in a construction company?
Options:

1 % Chest disease

- « Malnutrition

- % lraumatic injuries

4 u Allergic diseases
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Which of the below DOES NOT help in controlling hazards in a school setting?
Options:

1 « The school should be built near from the source of noise



> % The school should be well-ventilated
= % Health education should be included in the curriculum

, # Food supply to the students should be safe

Question Number : 98 Question Id : 3210111348 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
fFrafef@a # @ #ia e it d wat = g F= & wews 7@ gar 22
Options:

1_$H§mﬁmﬁaﬂ1#mﬁ#aﬁ$aﬁﬁmmaﬁm

Thel 3=0! RE ¥ gAER g A1gv|

-

.« TSTHA H Ty e e anfde fear s =nge

7 OTEr H AT T A AT T AT FIET geAr AMRT

Question Number : 99 Question Id : 3210111349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The vertical transmission of diseases occurs through:

Options:
, % mosquitoes

» % direct contact

- u droplets

4  Dlacenta
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The relative risk of a disease can be obtained from:
Options:

, w» Case study

5 of Cohort study

— Case-control study

Experimental study
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Question Number : 101 Question Id : 3210111351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the capital of Manipur?

Options:
, w Dispur

5 % Itanagar
% % Kohima

4 « lmphal

Question Number : 101 Question Id : 3210111351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AR T TSI T §?

Options:

4 7 PEDIET

Question Number : 102 Question Id : 3210111352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Lion-tailed macaques are found in which part of india?
Options:

1 % Jammu and Kashmir



- % Aasam
=z % Sikkim

4 « Western Ghats

Question Number : 102 Question Id : 3210111352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
d & fohe Ew & O = d 95 S #ere 91 A 82

Options:

FF 3R FER

1.

4 v 9T T

Question Number : 103 Question Id : 3210111353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Muria Gond tribe lives in?
Options:

, = Manipur

> % Andhra Pradesh

-  Chhattisgarh

4 % Kerala

Question Number : 103 Question Id : 3210111353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT 7s et H BT 2
Options:
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Question Number : 104 Question Id : 3210111354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Japan attacked US base “Pear] harbor™ in?

Options:
; ® 1940

5> 1941
s % 1939

4 % 1943

Question Number : 104 Question Id : 3210111354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A 7 FFE av AN 97 "Ter gee WX gFer A
Options:

. = 1940
-« 1941
- = 1939

. % 1943

Question Number : 105 Question Id : 3210111355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T gE" foRE av g
Options:

= 1761

. % 1758



2 v 1757

, = 1760

Question Number : 105 Question Id ;: 3210111355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“Battle of Plassey™ took place in the year?

Options:
; & 1761
5 % 1758

5 o 1757

4 % 1760

Sub-Section Number: 2
Sub-Section 1d: 32101143
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 3210111356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Three of the alternatives follow a certain relation. Find the instrument which does not belong to the group?

Options:
1 Guitar

5 % Gongs
5 % Conga

4 % Tabla

Question Number : 106 Question Id : 3210111356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| v FrER



Question Number : 107 Question Id : 3210111357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Read the following statements carefully and choose the appropriate conclusions from the given

Statements: Ramesh eats almonds every day. He is good at mathematics. His IQ levels are good.

Conclusions:
1. If you can’t eat almonds vou won’t succeed in mathematics
2. If ones IQ levels are good that he eats almonds every day.

Options:
, % Only conclusion 1 is strong

- » Only conclusion 2 is strong

- o Neither 1 nor 2 are strong

4 = Both1and 2 are strong

Question Number : 107 Question Id : 3210111357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 108 Question Id : 3210111358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a certain code language if DOCTOR is written as ‘cnbsng’ than how ENGINEER could be written in that code.?

Options:
1 % dnthmddr

- » dlfhmddg

- « dmihmddg

, = dmfhmeeq

Question Number : 108 Question Id : 3210111358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

v AfPaa 3 g # 32 DOCTOR & ‘cnbsng’ & & & for@r smar &, @ 39 &5 & ENGINEER
Fr ¥ BrEr =1 gFar 22

Options:

1 = dnfhmddr

, » difhimddg

-  dmfhmddg

4 » dmfhmeceq

Question Number : 109 Question Id : 3210111359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Study the following figures carefully and identify the similar figure among the alternatives,which have analogues
relation to the given set of figures

&

Options:

1 %

o %

4.

Question Number : 109 Question Id : 3210111359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 110 Question Id : 3210111360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Read the data given carefully and answer the question

The following Venn diagram shows information about number of officers who speak three different languages in the
army camp at XYX

Punjabi ﬁ Bengali
(e

¢ Hindi

‘What would the ratio of number of army officers who speak Bengali and Hindi but not Punjabi to the number of officers
who speak Bengali and Punjabi but not Hindi ?

Options:

1.9 4:3
> ®% 3:4
= % 4:1
4 ® 4:35

Question Number : 110 Question Id : 3210111360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1« 4 : 3
> % 3.4
=% 4 :1
4% 4:5

Question Number : 111 Question Id : 3210111361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the paper is folded and cut as per the given shape what would be the resultant look afier unfolding the paper.

.

Options:




D
d

>
J

Question Number : 111 Question Id : 3210111361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 3210111362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the next number in the series.

S, 15 18,23, 7
Options:



1..;9’23

= F4 253
z B 27
4 F 25

Question Number : 112 Question Id : 3210111362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& F e F T TEAT FT g

g T3 18, 2332
Options:

1 % 28

Question Number : 113 Question Id : 3210111363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Eight Engineers take part in a technical discussion one to one for the design of an article in a corporate company. Each
one have to discuss with every other one. How many discussions must they take to conclude final decision on design of
the specific product?

Options:
1 o 28

Question Number : 113 Question Id : 3210111363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 28

Question Number : 114 Question Id : 3210111364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the term from the given alternatives which holds the analogous relation as the given

ASB means __;,12;_32

C@D means C* +D°

Options:
| w J@4Amean s

5 » @5 mean9

=z # 7524 means 23

4 % 5512vmeans 13

Question Number : 114 Question 1d : 3210111364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

o 3@ FHTES

.« 4@5 F HTE 9



o % 7924 F 7T g 25

5$12 =T 3T & 13
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Question Number : 115 Question Id : 3210111365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IE S, + F FERT FAT 8, @, - F FEOT FAT g, +, X P AEOT FAT §,%, - BN HEEd Hd
§, g9 == f@T eg== &1 aRuns Far gem?

12+4$16%4@6
Options:

i 46

4 & 71

Question Number : 115 Question Id : 3210111365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If $ stands for + . (@ stands for —, * stands for x, % stands for +,
then what would be the result of the following expression
‘12*4816%4(@6’?

Options:
1. ® 16
o R 48

3 « 40

4_23 71

Sub-Section Number: 3
Sub-Section Id: 32101144
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 3210111366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
A quality control analyst rejects 0.08% of meters of manufactured cloth roll as defective. How many meters of cloth
will he examine to reject 4?

Options:
1 % 1000

5 % 2500
5 « 5000

4 % 10000

Question Number : 116 Question Id : 3210111366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
v uEed s feews, e F98 ¥ 0.08% REw # vy 9 gv dEER wer § 4 A
FUZ I HETFR o & o0 30 e HieT FI8 &0 AT AT arei?

Options:

., = 1000
> % 2500
o 5000

., & 10000

Question Number : 117 Question Id : 3210111367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Ifx:y=05:9 andy:z=4:7, then x: y: z is:

Options:
, % 30:36:81
- % 36:30:81

- % 20:63:36

4 « 20:36:63

Question Number : 117 Question Id : 3210111367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
R x:y=5:9 A y:iz=4:7,a x:y:iz &



Options:
, % 30:36:81

. % 36:30:81
- % 20:63:36

4 v 20:36:63

Question Number : 118 Question Id : 3210111368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

fa=1+v2 and b = 1—+/2, then the value of a? + b% is:
Options:
1 = 2

na
b
LA

Question Number : 118 Question Id : 3210111368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T a=1++v2 @b =1—+2 ,d@ra2+b? FAA ¢

Options:

12.32

Question Number : 119 Question Id : 3210111369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A person incurs 5% loss by selling a book for Rs. 1140. At what price should the book be sold to earn 5% profit?

Options:
; % Rs.1150



> « Rs.1260
= % Rs.1450

4 % Rs.1560

Question Number : 119 Question Id : 3210111369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U TG B TF e @ T 1,140 H ST 5% @ @ 81 5% F AT Tod FA F o [Faw
= B g W §=r e afge?

Options:

% T 1150
. v 1,260

. » ¥ 1,450

, = T 1,560

Question Number : 120 Question Id : 3210111370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Alice can do a particular work in 7 days of 9 hours each and Bob can do it in 6 days of 7 hours each. The how long

will they take to do it. working together 8% hours a day?
=]

Options:
, = 2 days

5 o 3 days

5 u 4 days

4 % O days

Question Number : 120 Question Id : 3210111370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T rF RN FT R 9 RoRF FH FF 7 F F = goa ¢ it 99 3@ 7 e 9fdfem s

T 6 fo # FT FowaT Bl A 37 TH WY FH A gC 8- e ¥ R v = s O ww A
foree wo weEm?

Options:



L% 2 B
5« 3 fea
;w4 R
iw 5 R

Question Number : 121 Question Id : 3210111371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A man travelled from his village to the post office at the rate of 25 km/hr and walked back at the rate of 4 km/hr. If the

whole journey took 5 hours 48 minutes, then the distance of the post office from his village is:

Options:
, ¢ 20 km

- % 30 km

4 % 40 km

Question Number : 121 Question Id : 3210111371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 122 Question Id : 3210111372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following figure, if PM is perpendicular to AT, PT = 10, and PM = 8. then AT equals

_"{3,*’!?
_,-'{H o

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1 6

Question Number : 122 Question Id : 3210111372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e smpfa &, af PM AT W &9ad §, PT=10, a1 PM=8 g, df AT & A &

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 6
- 10
z 12

4 36

Question Number : 123 Question Id : 3210111373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In what ratio must water be mixed with milk to gain 20% by selling the mixture at cost price?

Options:



Question Number : 123 Question Id : 3210111373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

g # W e & o e anfge arfes fsor @ w7 Je W =S W 20% F AT W g

Options:

Question Number : 124 Question Id : 3210111374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a quadrilateral ABCD . if m£A =2x. m£B =40, m£C = 2x. m£D = 40, then m£C equals:

Options:
, % 100

> % 120
2 « 140

4 % 160

Question Number : 124 Question Id : 3210111374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U% TgHsT ABCD H, I m2A=2x,m£B=40, m£C=2x,m2D=40, A msC TTH &

Options:
, % 100



-

> % 120

s v 140

]

4 % 160

Question Number : 125 Question Id : 3210111375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
wrﬂ?wmmmﬁw#% ¥ T g1 IfE & & wfavd R g7 IS seueAs w9
T FH &1, a 3d% AT g9

Options:

o
i
=

Question Number : 125 Question Id : 3210111375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The simple interest on a sum of money isg of the principal. If both are numerically equal then the rate percent and time
is:

Options:



